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SECTION-1: CHILD PSYCHOLOGY & DEVELOPMENT PEDAGOGY,
TEACHING LEARNING PROCESS
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1.

The concepts like ‘Introspection’
and ‘Conscious experience’ are
associated with :

(A) Functionalism

(B) Behaviourism

(C) Structuralism

(D) Gestalt psychology.

For the first time the word
‘Psychology’ is introduced by :
(A) Rudolf Goekle

(B) William James

(C) Sigmund Freud

(D) C.G.Jung.

Thought process is the main

component of

..........................

perspective.

(A) Gestalt

(B) Biological
(C) Humanistic

(D) Cognitive.

P.T.O
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The modern I’sychnlinguisti(\

theory was developed by :
(A) Chomsky

(B) Kohler

(C) Piaget

(D) Kohlberg.

Self actualisation is proposed by :
(A) Carl Rogers

(B) Abraham Maslow

(C) Sigmund Freud

(D) William James.

According to Darwin, the variation
in behaviour passed from one
generation to next generations is
due to :

(A) Selection

(B) Cultural changes

(C) Inheritance

(D) None of the above.
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Children often learn the habit of

telling lies when the discipline is :
(A) Authoritative

(B) Permissive

(C) Democratic

(D) Submissive.

It is the extent to which a test

measure it purports to measure
i8 :

(A) Validity

(B) Reliability

(C) Norms

(D) Probability.

refers to the development

of the Individual with all his/her
potential.

(A) Self actualization

(B) Subjective competence

(C) Mood management

(D) Cognitive competence.

P.T.O.
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11.

12.

may bhe defined as

tendency to choose one activity i

preference to another.
(A) Intelligence

(B) Interest

(C) Attitude

(D) Aptitude,

Stephen Ceci has suggested that

intelligence consists of

.................

to the context.

(A) multiple abilities, biologically
(B) multiple intelligence, learning
(C) modules, developmentally

(D) Processors, cognitively.

Personal, bodily-knowledge and

musical are intelligence of concern
to:

(A) Sternberg
(B) Gardner

(C) Information Processing

theorists

(D) Binet.
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13.

14.

What role does the basic processing
mechanism play in Anderson’s

theory?

(A) Itisone of the forms of specific
abilities that determine
intelligence

(B) It is one of the subtypes of
intelligence

(C) Itimplements thinking

(D) It is another name for

propositional thought.

In Sternberg’s Triarchic theory of

Intelligence the solution of an

analogy item involves :

(A) encoding processes and

comparison processes

(B) experience and abstract

reasoning

(C) general processes and specific

processes

(D) verbal abilities and
performance abilities.

P.T.O.
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(B) Use of ICT

(C) Years of Experience

(D) Use of Student feedback.

16. Which of the following statements

16.
o best defines Maturation?

(A) It is directly based on Social
Cognitive Learning

FarTeTE T W eE @ .
(B) It is an Automatic Biological

\(B) F& YR &1 T SICCCEAR| development of the body that
2 S 999 & GIY UThide ®9 naturally unfolds overtime
¥ 9He 'l © (C) It does not take place in

;- h .
o 5 it o uman beings
(D) It is the basis of all Physical

(D) 7 T S T 6
c and Physiological
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developments.
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7. frefafEa § 9 $iH =new! & fagr 17.  Which of the following is a
F TH favraar 22 characteristic of Chomsky’s
theory ?

(A) development of language 1s

(A) aron &1 fawm @ 9 ura g
F1 oM & A= 2

between three and five years
of age

(B) 9TH1 1 fospTg @=4 g 9T (B) language development is

qAgedihd W fasft 2

dependent on the

reinforcements received by

(C)Eﬁ?} T T s o the child

s ® A W e

(C) children acquire mistakes 1n
language by observing their

qrer ® TAfadl @ T
parents and others around

. them
SO F=ai o S HHTHe SHehI
(D) children have an innate

e ®
mental grammar.

18, UH HETM 9EHM fqepfaa T HI 18. Failure to Develop consistent

3TAFETdl T GOTH gl 2 identity resultsin:

@ gl (A) Inferiority

(B) Role confusion

_@){ﬁqﬁwﬁ-ﬁqﬁf

(C) TAfshaa (C) Stagnation

(D) Social isolation.

(D) |mHTfSIeR ATl

J-2106-Series-C (9) P.T.O.
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(A) 10-19

(B) 35-49

(C) 55-70

(D) 20-34.
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19.

20.

21.

(10)

Detecting movement ip spit
e of
camouflage is easjer for People v},
0

are :

(A) Field dependent

(B) Infield dependent

(C) Both field dependent ang fielq
independent

(D) Neither field dependent nor

field dependent.

People with moderate menta]
retardation would have an IQ in

the range of :

(A) 10-19

(B) 35-49

(C) 55-70

(D) 20-34.

Who is famous Psycholinguiétic ?
(A) Gardner

(B) Allen Newell

(C) A.Simon

(D) Noam Chomsky.
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According to the J. B. Watson

Psvchology is a Science of :

(A) Soul

(B) Mind

(C) Behaviour

(D) Brain.

Who defined ‘Psychology’ as the
scientific study of activities of

organism in the relation to its

environment ?

(A) J.B. Watson
(B) Sigmund Freud
(C) Wood-Worth

(D) William James.

Who defined Psychology as the
Science of immediate experience
with consciousness being the main

subject matter ?
(A) E.B. Titchner
(B) William James

(C) Sigmund Freud

(D) Wilhelm Wundt.

P.T.O.




N3 W gy whem fgg o lE A& 25 Which Psychologist C“nSt"Uetm]
the first Intelligence test?
o e .
A) P (A) William James
B) *. A F=aT (B) J.B. Watson
(©) fafermm dgzma (C) William McDougal|
(D) 3=wzT 53 (D) Alfred Binet.

26. oTma 3 oy wdufag g 26.  Ebbinghaus had done

the
I = fF ) Pioneering experiments o -
(A) Togemmy _ (A) Perception
(B) wam (B) Emotion
(C) =i (C) Memory
(D) faa+ (D) Thinking.

27. aqT?JFTEE e =7 T{I%TFCIE FH z? 217. Who is the father of individual

> 2
(A) =faz &= Psychology 7
. (A) David Hull
‘B) 9zrEs
(B) Thorndike
(C) s=Fe faq

(C) Alfred Binet

(D) Alfred Adler.

J-2106-Series-C (12)
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q,aw of effect’ was coined by :
(A) Skinner
(B) Pavlov
(C) Kohler

(D) Thorndike.

Archetype is a terminology

associated with :
(A) Jung
(B) Freud
(C) Adler

(D) Skinner.

Who is the valuable contributor

in Insightful learning?
(A) Thorndike

(B) B.F.Skinner

(C) Evan Pavlov

(D) Kohler.

P.T.O.
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SECTION-II : CHEMISTRY

faeide # g e 37 2
‘A) SiO,

(B) 8i0, 2

(©) S0, 4

D) 8i,0..

[T R 2
(A) T

(B) R

(C) @ wHETe

_(D) w1 goEE|

S8 T F1 9 Fq¢ fS9aT @ 4
¥ WR Fecla @ E @ s @
ST o o1 TR e

(A) Ga
(B) Ge
L

(C) Ti

(D) Se.

31

32.

33.

(14)

Basic structural unit of Silicate is .
(A) SiO,

(B) SiO,~2

(C) 8i0,~4

(D) Si,0..

A pair of Propanone and Propana]

1S :

(A) Metamer

(B) Tautomer
(C) Chain isomer

(D) Functional isomer.

Name the element that discovered
later and which has similar
properties to Eka-boron according
to Mendeleev in his earlier

prediction:
A) Ga
(B) Ge
(C) Ti
(D) Se.
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Mol L1 sec™t T\ sifufsan #t =
fueieF 1 T €7

(A) I[A
(B) 1
C) 2

(D) 3.

gfa da | SEfd o[ qu

\

g 27
(A) Ni
(B) Fe
(C) Pd

(D) Pt.

FATE 3T T
(A) sfcem
(B) dlan
(C) ST& bl

(D) HITAIHE I

34.

35.

36.

(15)
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Mol L1 sec! are the units of rate

constant for which reaction?
(A) Zero

(B) 1

(C) 2

(D) 3.

Catalystrused in hydrogenation of

Vegetable oil into Vanaspati ghee
is:

(A) Ni

(B) Fe

(C) Pd

(D) Pt.

Calamine is Ore of :
(A) Ca
(B) Cu
(C) Zn

(D) Cr.

P.T.O.
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Ni*2 % qree #1 9 8@ 2 37.
@) e
(B) e
(C) =1

(D) dfery

Afafedar g Cl+Nal >R -1+ NaCl 38.
T 9m .

JA) TFFeray sififga
(B) @WRew  s1fafea

(C) a1

D) fresa wre sifafea

SHH B THIW T T 39.

(A) 3R TR iR aeEdfe
3T

(B) 39I3ea TemsEa otk Ry
H

(C) fFae 3R widesterRs
(D) BAET 3R hidcelgree|

(16)

Colour of Ni*2 salts are -
(A) White

(B) Pink

(C) Green

(D) Yellow.

The name of the reactiop

R-Cl+Nal > R-1+Nac] is :
(A) Finkelstein reaction
(B) Swarts reaction

(C) Wurtz reaction

(D) Friedel Crafts reaction.

The monomer unit of Dacron is :

(A) Ethylene glycol and
Isophthalic acid
(B) Ethylene glycol and
L o
Terephthalic acid

(C) Phenol and Formaldehyde

(D) Melamine and Formaldehyde.
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40.

41.

42.

(17)

Which is most Basic?
(A) C,HzNH,

(B) CgHgNH,

(C) NHy4

(D) (CyHg)y NH.

Which one 18 Anin‘lal fibre?
(A) Cotton

(B) Jute

(C) Silk

-

(D) Acrylic.

Acid formed from Spinachis:
(A) Oxalic acid
(B) Acetic acid
(C)- Citric acid

D) Tartaric acid.
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B H w®a ?, @ 3T god v 1
oY w7 S S e A g e
U &1 faygo ¢ .
(A) Cu(OH), and CuSo,
(B) CuSo, and CuCo,
(C) CuCl, and CuCo,
(D) Cu(OH), and CuCo,.
4. MEYF & %Tvr‘rﬁqﬁmnm%:yﬁﬁm | 44,
(A) 55,000
(B) 50,000
(C) 45,000
(D) 40,000.
45. T foaaq foad 20 o e w | 45
180 U9 Ut ¥ Sreteht a9 T
SHFT Higal To/qS ufaeq o A
N HITSTT:
(A) 11%
(B) 10%
< (C) 20%
s /o
(D) 80%. o
E
\Q.q' S
2106-Series-C D s, (18)
2. S
E *%3 F,}S

When Copper vessel is ©Xpose ¢,
moist air for long time, it ACQUire,
dull green coating which is 4
mixture of -

(A) Cu(OH)2 and CuSo,

(B) CuSo,1 and CuCo,

(C) CuCl2 and CuCo3

(D) Cu(OH)2 and CuCoB.

Calorific value of Methane i,
kJ/Kg :

(A) 55,000

(B) 50,000

(C) 45,000

(D) 40,000.

A solution contains 20 gm of
Common salt in 180 gm of Water.
Calculate concentration in terms of

mass/mass % of the solution:
(A) 11% ’L;{
3
s C
B) 10% .o e
%
(C) 20% %ﬂ‘
’ Cd
(D) 80%. g& Th
\:{9\ 2
Y
29
o q ¢
(3 v

—
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gfarn @I U HIAES _F\' oy uftefyg 46. Shaving cream is a colloid in which

dispersed phase is:

QA &

(A) ad (A) Liquid
(B) 34 (B) Solid

(©) e (C) Gas

(D) TEARH T (D) Emulsion.

g T ST o 3usil & e w 47.  Calculate Number of molecules in

FHIST ¢ . , 8 gm of Oxygen : o % B
.
(A) 6.022 x 1023 (A) 6.022 x 102 5 e
- —h g o
(B) 3.011 x 102 ' (B) 3.011 x 1023 ¢
(C) 2.011 x 102 (C) 2.011 x 1023 -
(D) 1.51 x 1023 ~£
¢ Yoo

(D) 1.51x10%.

Isotope of Cobalt is used in

Fee 1 gEEE TN W WA | 48.

treatment of :

foran ST € :

@ ST . (A) Cancer

(B) fireTes (B) Goitre

(C) =4 TSt (C) Skin allergy
(D) Zd 4| (D) Tooth decay.

106-Series-C (19) P.T.O.
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(A) O°F
-f.BZ 32°F
(C) 50°F

(D) 180°F.

50. 4Pmﬁ%&mﬁmﬁ@:
A 2
(B) 4
© 3

D) L
(g

51 HhosieH 99g e 9 getd €
A) 13
(B) 15

(O 16 ’

D) 17.

49.

50.

51.

J-2106-Series-C ( 20 )

w

Water freezes at temperature ;;

Fahrenheit scale:
(A) O°F
(B) 32°F
(C) 50°F

(D) 180°F.

The number of radial nodes in 4 P
orbital :

(A) 2

®) 4

© 3

(D) 1.

Chalcogens belong to group

number :
(A) 13
B) 15
©) 16

D) 17.



Be. Mg, Na 31t Si o 9 fora wam
sifereh enfeares 10T B2

(A) Na ]
(B) Mg
(C) Si 1y

(];) Be. k¢

NH, H,0 BFy 3 CO, e # 4
for 0] w1 Tgyeta st e 22

(A) NH,
(B)_CO;
C) BF,

D) HyO.

4 fr g T O A 7
A) CH, 3R SF,

B) NH,* 3R XeF,

c) CH, $iRNH/*

D) SF, 3 XeF "

53.

54.

(21)

Series-C

fa

Which shows maximum Mctallié

character among Be, Mg, Na and

Si?

(A) Na
(B) Mg
(C) Si

(D) Be.

Which of the following molecule

has high dipole moment ar;long

NH, H,0O BF, and COy ?
(A) NHj
B) CO,
(C) BFg

(D) H,O.

Which of the following pair has
some geometry?

(A) CH, and SF,

(B) NH,*and XeFy

(C) GH, and NH,*

(D) SFy and XeF  *.

P.T.O.
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faemrs 3

{(A)_XeOF,

(B [PtCl, |

()] BI‘F5

@ PCl,.
U}!: U

()

ST W % fov man wd vd
® .

(Q) AG >0and AS>0
(B) AG <0 and AS <O
(C) AG<Oand AS>Q

(D) AG =0and AS > Q.

ST STHHERE T w1 o R
(4) C¢Hyq
(B) ByN,H,

(C) B,N,H,

) (D) B 4NoH.

J-2106-Series-C

(22)

56.

o7.

dSp2 hybridisation 18 Presen,

in:

(A) XeOF,
(B) | PtCl, |
(C) BrF,

(D) PCl,.

Appropriate condition for the

Spontaneity of a process is :

(A) AG>0and AS- 0

(B) AG <0 and AS <0
©) AG <O and AS>0

(D) AG=0and AS > 0.

Inorganic benzene has formula :

(A) CgHy
(B) ByN,H,
(C) B,N,H,

(D) B,N,H,.



(\. / ° y (
‘S ( ‘ Jl] k/‘ A/(‘ &
10O oy

ofafess 2T F aferm vfgez  figgo 58 The value of pH for buffer which is

A g faaad &t pH &1 17 @ a mixture of Acetic acid and

Sodium acetate is :

(A) 4.75
(A) 4.75
3) 1.58
v (B) 1.58
(C) 9.25 (C) 9.25
(D) 7.42. (D) 7.42.

0, o AfEdl B WEl %W 7 59.  Correct order of Acidic strength is :
(A) CH,>NH3>H,0 > HF (A) CH,>NH;> H,0 > HF
(B) HF >H,0>CH,>NH, (B) HF >H,0 > CH, > NH,
(C) CH, < NH, < H,0 < HF (C) CH, < NH, < H,0 < HF
(D) HF > CH,; > Hy0 > NH;. (D) HF > CH, > H,O > NH,.

60. [ I AAERV ¥4 FBE 9 Uil Seal 60. The Atmosphere of venus is made

F I g T © Sl q&Id . up of thick white and yellowish
clouds of the acid mainly :

(A) HCI
(A) HCI

-B) HNO4
(B) HNO4

(C) HCIO, | (C) HCIO,

(D) HySO,. ' - (D) HySO,.

J-2106-Series-C (23) PTO.



62.

SECTIO

HCl wifaa @l € ¢
(A) Sfzs Hifere q
(B) =® Fiferan d

(C) T Hiferwed 4@

(D) st el 9l

STEAfd S 1 S
(A) TR

(B) HIEHIASH

«C) IATFEIT

(D) SRR

ST P HS T

(A) TEREF 8T TS
(B) THhIIHF QAT o
) Frover smaer o

(D) AT 3T&Y &)

J.2106-Series-C

(24)

61.

62.

63.

N-III: BOTANY/ 7ZOOLOGY

HCl is secreted by :

(A) Peptic cells
(B) Goblet cells
(C) Argentaffin cells

(D) Oxyntic cells.

Joker of the plant kingdom :

(A) Cyanobacteria
(B) Mycoplasma
(C) Bryophytes

(D) Thalophytes.

DNA fragments are :
(A) Positively charged
(B) Negatively charged
(C) Neutral

(D) Having both charges.

ffffff



6.

65.

0.

(A) FE

(B) T

(C) d

(D) wd|

RIS 1 Toehled H URERd & &
fafsr 1 et 872

(:A_)Wa‘ﬁfrﬁ’ﬂ

(B) Y441

(C) 9rad

(D) YRS IO

TR (Tgad) 1 IR Feal ©

(A) 3rEIfed

(B) HEETH<S

~

(Q HeHftFe! AmH=s

(D) 379 | IS &l

-2106-Series-C

64.

65.

66.

(25)

Nicotine is synthesized in :
(A) Roots

(B) Leaves

(C) Flowers

(D) Fruits.

The process of conversion of

Glucose into Alcohol is called as :
(A) Fermentation

(B) Respiration

(C) Digestion

(D) Photosynthesis.

Body of Tapeworm is said to be :
(A) Unsegmented

(B) Pseudosegmented

| (C) Metamerically segmented

(D) None of these.

| 34 4R 8



67.

69.

J-2106-Series-C

fSr (srem) foa o O fahn STER
2

(A) TESin

(B) 99

(C) &id

(D) =

S9 B ufgal dfesia W T @

WH WO et & @' U

FE €72

(A) 9META gl
(B) fiie =qyuiss ww
(C) IHE HHUlS T

(D) T A

et o § o § R R
feafs 2t 22

—(A) fafeard
(B) gt
(C) Qe
(D) e

67.

68.

69.

(26)

ffffffff W

Ginger is an example of :

(A)  Rhizome
(B)  Bulb
(C)  Corm
(D)  Tuber.

When leaflets one joined together

at a common point at the petigle

the leafis called ?
(A) Simple leaf
(B) Pinnate compound leaf

(C) Palmate compound leaf

(D) A branch.

Tricarpellary syncarpous condition

1s found in :

(A) Liliaceae

(B) Poaceae
(C) Solanaceae

(D) Fabaceae.



Canaliculi can be seen 1N :

h\ AT " 3 S o

:.')_) ‘},W”r«”::h'('“ ﬁl_'] ﬁ Re| f?f{ﬂ ps| «q-ré 70.
it s

(A) Bone

(A) 31fre
(B) Cartilage

() @ifdeds
(C) T (C) Cranium

(D) meéf;ﬁ RS (D) Cardiac muscles.

fr 0 A ‘Afzaa’ & fog 71.  Which is not true of ‘Centrioles’ ?
g W ?

(A) 9+2 arrangement

(A) 942 SFIEA
(B) 9+0 arrangement

(B) 940 RS2
(C) A 3R B Ml (C) BothA & B

D) =A% & Wiz &l (D) None of these.

wefl, vee au fee § U EIsfciil 79.  The sugar found in Fruits, Honey
T hEA-TT § 2 and Nectar is:

(A) TAER=S (A) Galactose

(B) THIS » (B) Glucose

(C) HIeIS (C) Maltose
(D) Fructose.

(D) Wl
W/

106-Series-C (27) PT.O
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73, mredlw fae w9 f#a faA 73. Maltose is formed by the followip,

Aiidhazgn @ faad A ada @2 Monosaccharides :

(A) W ’ Tﬁiﬁh (A) Glucose + Glucose
(B) r@;{ R S C S| (B) Glucose + Galactose
(P),W X | (C) Glucose + Fructoge
(D) RS + TS| (D) Fructose + Galactose.

IR A= 9 9 EX2EA qﬁrﬂq_\”i 74. Iodine is an important constituent

e ©? of :

(A) THH (A) Salt

(B) @I (B) Food

(C) emgtifar (C) Thyroxine
(D) EMHFEfa) (D) Hemoglobin.

75.  DNA & =g’ @t 3 . 75.  Width of DNA is :

(A) 34 A (A) 34 A
_(B) 344 (B) 3.4 A

(C) 200 A (C) 200 A

(D) 20 A. (D) 20 A.

-2106-Series-C (28)
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76-

106-Series-C

mRNA fh&s1 sgerh 27

(A) TEEfFTANEES

(B) aFiEagfarezey

() eiREa=fFaaaEey

(D) TEAfFTATeEEH|

wpfa <@ gaen 9 o @ feas
e o fawlia fem ¥ g 27
(A) fEifes <A

(B) X wrefyras

(@) aﬁm‘r&'as EICIMP K]

(D) ffa o (ara <4 |

frer ¥ -9 & g8g 1w
g7

(A) IR
(B) 9
(C) 5=

(D) HfTEm|
Fs

76.

77.

78.

(29)

mRNA is a polymer of :
(A) Ribonucleoside

(B) Deoxyribonucleotides
(C) Deoxyribonucleosides

(D) Ribonucleotides.

Turger pressure is always and

opposite to:

(A) Osmotic pressure
(B) Water potential
(C) Osmotic potential

(D) Wall pressure.

Which of the following elements is

Micronutrient?
(A) Copper
(B) Boron

(C) Zinc

(D) Magnesium.

P.T.O.



79, S R g A=<

(A) G, %9
(B) ‘§" ©H
(C) G, ¥d

P

(D) TEefed =

. M 5
0. aAfz ws &fvrwm H 6 AR quaygA
fasreT gia . d fead & MEIL

407
(A) 12
(B) 24

(C) 32

Dy 64,

§1.  TEEFAEEE # HAfdw 3@ g | 81

(A) TS
(B) wfw=# ufgz

(D) "fHerEd@ CoA,

J-2106-Series-C

(30)

79.

80.

2

The Replication ofCentriole tak
ake.

place during :
(A) G, stage
(B) ‘S’stage
(C) G, stag

(D) Mitoticstage.

How may cells will be produced i¢.
cell divides mitolically 6 times o
(A) 12

(B) 24

(C) 32

(D) 64.

The end product of Glycolysisis
(A) Ethanol

(B) Lactic acid

(C) Pyruvic acid

(D) Acetyl CoA.

{
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$3.

J-2106-Series-C

@qﬁ'ﬁmmﬁm
afer T FD STETIERS B 3

(D) 3uUa At

1 IARA FCA B?

(A) B -RIRTHTT

(B) a—aﬂﬁmi

(C) difen wiferehrd

(D) T=XEIfaad HiferhT]

dAege ww = 4 @ fom =

A S §
(A) A

(B) g

(C) e

(D) Iqa |l

82.

83.

84.

(31)

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ W

Which of the following needs large

amount of H,O for its excretion?
(A) Urea

(B) Ammonia

(C) Uricacid

(D) All the above.

Which cells of Pancreas produces

Insulin?
(A) B-cells

(B) o-cells

(C) Leydigs cells

(D) Interstitial cells.

Oestrous cycle is found in :
(A) low

(E) Sheep

(C) Rat

(D) All the above.

PT.0.
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87.

J-2106-Series-C

1 3 9 o o e o e 2
(A) Tawurfogy of
(B) 3=t o

(C) uferar

D) T )

ARHEARSATE & Swm kg
fouem fem & v 3 .

(A) Teidfgay

B) AEFHFIT 2T T

(C) HrEwix

(A) 512 MMC
(B) 128 MMC
(C) 64 MMC

(D) 25 MMC.

WU

86.

87.

(32)

External Fef'tilization occurs j, :
(A) Mammals

(B) Amphibians

(C) Birds

(D) Reptiles.

During the MicrosporogenesiS
melosis occurs in -

(A) Endothecium

(B) Microspore mother cel]

(C) Microspores

(D) Pollen grain.

256 Microspores will be formed by
meiosis of :

(A) 512 MMC

(B) 128 MMC

(C) 64 MMC

(D), 25 MMC.



fra-fave fas I Fva 22 88.

KN,

(A) T=EitETA
B) FRRTA
(C) WA

(D) 3_“”4 9 aﬁ—é TR

Q. ‘ﬁw'ammﬁm;ﬁﬁ 89.

F wA T B ©
(A) 44

(B) 45

-

(C) 46

@) 47.

0. & M HIeH S een wt wfd | 90.

FW % :
(A) TAG, TAA, TGA
(B) GAT, GAA, AGT

(C) AAT, TAG, UGA

(D) UAG, UGA, UAA.

J-2106-Series-C (33)

Corpus luteum produces :

(A) Estrodiol

(B) Testosterone

(C) Progesterone

(D) None of these.

Total number of chromosome ir

person suffering from ‘Turne:

Syndrome’ is :
(A) 44
(B) 45
(C) 46

(D) 47.

The three codons which cause

chain termination are :

(A) TAG, TAA, TGA

(B) GAT, GAA, AGT

(C) AAT, TAG, UGA

(D) UAG, UGA, UAA.

PTL



0] 997 F) e w1 2 - 91. Respiration is controlled by -

(A) unfiass (A) Cerebrum

(B) a1Fufigss (B) Cerebellum

() 3vaF (C) Hypothalamus

(D) W= =Tt (D) Medulla oblongata.

2. & W ¥ CO, @igdl g Wit &, @ | 92.  When CO, Conc. in the blo.

increases, breathing becomes

(A) 9197 3R TEq (A) Slow and deep

(B) IS IR e (B) Faster and deep

(C) SUam 3T o . (C) Shallow and slow

(D) 7987 W FIE Y99 &I (D) No effect on breathing.

firg ¢ - 93. Odd oneis :-

(A) F9g1 B (A) Sea Anemone

(B) d9&1 A (B) Sea Pen
(C) W{{}‘;{‘T Foh (C) Sea Cucumber
(D) AHET HAI (D) Sea Fan.

J-2106-Series-C (34)



95.

96.

J-2106-Series-C

g &ga o it o yaw et @
) H9 e W OWEY # R

) fEd TE qerEE wifer @
mead |

(C) TEPIE HIEH 2R B e
3 9= R

(D)ﬁ{ftuﬁwmﬁaﬂﬁma%qu
4|

SN @R W Teldll 1 FE qH
TH1 e ©
(f)aﬂaﬁﬁa‘eﬂa

(B) 3TIhoIHA

(C) FSIiaeh<oT

(D) HIsST q9d|

AR #1 qed o © ¢
(A) Mn
(B) Zn
(C) Fe

D) Mg.

94.

95.

96.

(35)

Pollen tube enters the Embryo sac:
(A) Directly passes into egg.
(B) Through one of synergids

(C) Between synergids and

central cell

(D) Through one of antipodal

cells.

Chance elimination of alleles from

small population is:
(A) Geneticdrift
(B) Adaptation
(C) Speciation

(D) Founder’s effect.

The Core element of Chlorophyll
1s:

(A) Mn

(B) Zn

(C) Fe

(D) Mg.

P.T.O.
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98.

- ———

9.

(C) w&=rsA

(

106-

T e TR

=g qu ‘O’ A a= & fua BT AT
# i A’ A ¥, @ fr 3R
o@E & SRRy ¥ o

(A) 11 x TATA

(B) 1A x 1B;

(C) ii x [BIB

(D) TATA « BB

frfafes 4 @ 99 7 38 22 98.

(A) 3T

(B) YTerTH
(C) =t

(D) 3TTFHI

TS ST, g g i qeel
=g g9+ %‘ :

(A) Fgfer

(B) erEufama

D) W= |

Series-C (36)

R -

97.

99.

-

nnnnnnnnn W

Child with blood group ‘O’ has p>
group father and ‘A’ group mothe,.

the father and mother have |
genotype of :
(A) ii x TATA
(B) TAi x IBj
(C) ii x IBIB

(D) TAIA x IBIB,

Which of the following is not 4

Stem ?

(A) Potato
(B) Turnip
(C) Turmeric

(D) Ginger.

The first Human hormone

product by Recombinant DNA

technology is :
(A) Insulin

(B) Thyroxine
(C) Estrogen

(D) Progesterone.
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101.

2106-Series-C

F1¢ UF FHW ST €
(A) PAA

(B) IAA

(C) NAA

(D) GA.

gar ®

(A) 9gu Tfy g

(B) I EN

(C) diffaa ufy gm
_(D) BE 3 gW
FE-T HEF YA GIAU B
TH W1 Ghas & 872

(A) UAG

(B) AUG

(C) UAA

(D) UGA.

(37)

100.

101.

102.

One of the Synthetic Auxin is:
(A) PAA
(B) TAA
(C) NAA

(D) GA.

Secretin is a hormone produced
by :

(A) Pituitary gland

(B) Kidney

(C) Pineal gland

(D) Small Intestine.

Which codon is not an indicator of

completion of Protein synthesis?
(A) UAG
(B) AUG
(C) UAA

(D) UGA.

P.T.O.
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(| aYg o st O

(A) e
(B) Wy
(C) TIRquE
3 AT

(D) iy

104 =8 Sl &) oegsEt @ w9 sigm 22
(A) sfeyy gym

(B) 51 ggeEd
(C) =gy

(D) 91 T«

105. f‘aaawﬁ&mﬁmﬁmﬁaﬁg&ﬁ
o smar 22

{A) TREIS

(B) |17 wq

(C) &=

(D) 919 9

J-2106-Series-C

103

104,

105.

(38)

Which of the followin, is

Bacterial disense?
(A) Rabies

(B) Measlos

(C) Influenza

(D Plague

What connects Musele to bone”
(A) Ligament

(B) Cartilage

(C) Tendon

(D) Adipose tissue.

Widal test is used for diagnosis
of :

(A) Typhoid

(B) Swine flu

(C) Cholera

(D) Yellow Fever



107.

1 08.

J-2106-Series-C

Aq @ FfeE #w agEd FfrE
F7d 87

(A) A F o

(B) TEAIEIH

(C) TIAEE

(D) &f@ aaF|

(A) T FE

(B) &S

(© SrereT

D) W& Bfedem|
s A S B T W
70 G
A) TeIfFEH
(B) Sefta wqAl H TP
(C) T 1 e

(D) T F ey H HHI

106.

107.

108.

(39)

-

nnnnnnnnn W

alled as

Which Cell organelle is ¢

polymurphir cell organelle?

(A) Mitochondria

(B) Ribosome

(C) Lysosome

(D) Chloroplast.

Flame cells are excretory organs
in :

(A) Round worms

(B) Insects

(C) Molluscs

(D) Platyhelminthes.

Fertilizers passed on to fresh Water
will cause :

(A) Eutrophication

(B) Spurt in aquatic animals

(C) Death of plants

(D) Decrease in fish population.

P.T.O.
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110,

111.

J-2106-Series-C

5
i T i | sy A

|

(A) Fafeea

(B) garetfwed
(C) aafeea

(D) [EHEEZal

ufie zga @@ ferm 2
(A) 94
(B) @t
(C) &al

(D) 3|

TFHTY GYATU FI YERNG fqhdl &
2RA e e &1 TS B @

(A) ATP 3R vt
(B) ®TggIoM, aAadieM 3R I
(C) ATP, TEERMA I 3R Sierderm

(D) ATP, ¥T3ENH 3R siads <@

109

110.

111.

(40)

[Largest number of WBC« 4,
(A) Neutrophils

(B) Eosinophils

(C) Basophils

(D) Monocytes.

Aril is the edible part of :

(A) Apple

(B) Litchi

(C) Banana

(D) Mango.

During light reaction in the

Photosynthesis the followings are

formed :

‘/(é)' ATP and Sugar

(B) Hydrogen, O, and Sugar
(C) ATP, Hydrogen donor and O,

(D) ATP, Hydrogen and O, donor.



«qurvival of Fittest” % faam =

gad wed fHa wega fen o2
(A) WY

(B GEIE]

(© srfaq

(D) Tagd |

AN

3. TE H T HOFER ©
(B) Sfasge =™ a
(©) FRITE g

N

(D) 39U gl

g

(A) TATHEER HIRIST Sl R
(B) W & Wiawdl

(C) @ Fege 1+ <R

(D) AHHA & T &l

-2106-Series-C

(41)
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Ca'l
A "!; L) <4 an
C £ A

112. The idea of “Survival of Fittest”

113.

114.

was first presented by
(A) Spencer

(B) Lamarck

(C) Darwin

(D) Huxley.

Type of Placenta in humans is
(A) Chorionic placenta

(B) Deciduate placenta

(C) Hemochorial placenta

(D) All of these.

The cells called podocytes, occur

in:

(A) Wall of glomerular capillaries

(B) Cortex of nephron

(C) Inner wall of Bowman’s
capsule

(D) Neck region of nephron.

P.T.O.
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117.

9E iR & oftgr vdrard) (ufared)

F I F Fed ¢
(A) afws ufawan
(B) fafer ufaeen
(C) wes ufgean

(D) 9@ wfquen

faum st 1 aw fAad

(A) T A

(B) wifthwr  wrriaEeE
(C) Wier=ta1 - AHreiaEed
(D) wAfar=T - demfeal

Tead™ F AfawrRE g
(A) ATEHIFIF

(B) Il

(C) SISl qaT8

J-2106-Series-C

(42)

115.

116.

117.

Formation of antibodies Withj,

Human bodies is called as
(A) Active immunity

(B) Passive immunity
(C) Innate immunity

(D) Acquired immunity.

Pick the odd pair out :

(A) Monera — Eukaryote

(B) Porifera — Choanocytes

(C) Coelenterata — Nematocyste

(D) Annelida — Metamerism.

Who discovered Ribosome?
(A) Novikoff

(B) Fontana

(C) George Palade

(D) Leeuwenhoek.
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119.

| 20.

Frafafad # ¥ wH-w s
e | Tafya 872

(A) AT
B) freifer

O IEECIERE

(D) ABA.

e 1 W1 9T A mfafafe
=1 frafaa s 22

@\Wqﬁ
(B) faxia arfa
(C) i@ TIfd

(D) 9¥EEHIE dIfal

St fd BT HT HH S HRO
g 2

@

~(B) THIH

(C) e

(D) sl

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ W

118. Which of the following hormones

119.

120.

(43)

J-2106-Series-C

18 associated with the Stomatal

movement?

(A) Auxin

(B) Gibberellins
(C) Cytokinin

(D) ABA.

Which part of Brain controls

Intellectual ability?
(A) Frontal lobe
(B) Parietal lobe
(C) Temporal lobe

(D) Occipetal lobe.

Diabetes insipidus is caused by the

deficiency of hormone :
(A) Insulin

(B) Glucagon

(C) Vasopressin

(D) Oxytocin.

P.T.O.
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N . SNESS INCLUDING HIMACH A
SECTION-IV : GENERAL AWARENESS IN( , ) AL
PRADESH CURRENT AFFAIRS & ENVIRONMENTAL STUD[Rg

2020 ¥ & ufafeaa aifest amard fea
NS frey &) fam w2

(A) 39 g wmm
(B) et

=

(C) IRIRE

(D) {9y amEe)
feraa Ru #) g=a 3= 9d/vda
Rrer “freen” farg fadt o aedt @7

(A) J|g
_(B) f&=R

(C) weta wify

(D) I

REIERC NI Y
(A) STIH

(B) 917
(C) ety

(D) A9TA|

121.

122.

123.

(44 )

Oscar Award for best pictype w
()||

by which Movie in 2020 AD
(A) Train to Busan

(B) Joker

(C) Parasite

(D) Knives out,.

In Himachal Pradesh the highest
mountain peak “Shilla” falls i
which District?

(A) Kullu

(B) Kinnour

(C) Lahaul Spiti

(D) Chamba.

Yuan is the Currency of which

Country?
(A) Japan
(B) China

(C) Indonesia

(D) Nepal.
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(A) S

(B) WA

(C) dfesan

(D) 3T

el W 82

(A) .81 fagen

(B) SR ELTE

(C) faetfan

(D) 399 9 g L

TF 9917

(A) 9RA F1 Higedl T
(B) 9RA &1 digal A
(C) 9Rd #1 eETE T

(D) 9Rd +T FFaT TH|

106-Series-C

sy o anforfaes fadma &1 s fad

1971 3. H fear=a 4sw1 &1 Ui T
%1 T fHe W 98 YR H1 -1

(45)

124.

125.

126.

FRESHERS NO! W

The Head Office of BEuropean Union
isin:

(A) Germany

(B) France

(C) Belgium

(D) Austria.

Who is called father of Civil
Aviation in India?

(A) G.D.Birla

(B) J.R.D.Tata

(C) Singhania

(D) None of these.

When Himachal Pradesh was

granted full Statehocd 1in

1971 A.D., it became?

(A) 14th State of India

(B) 20th State India

(C) 18th State of India

(D) 17th State of India.

P.T.O
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(A Agma
(B) et
(C) 17

(D) w1y

AR F wwel! ufgen UM wH | 128

eft 2

(A) W wER qe
(B) =fzs1 smmegm
(C) Sfen firene
D) 79 | = =&

W@WW@ZOZO%EH. 129

TS Mt Bl 9 R g §
& mar?

(A) TR Freet
(B) Ufgq wof
(C) ¥fdsw uregan

D) a9 gmE|

Series-C (46)

The first month of Saka Erais
(A) Vaishakha

(B) Phalguna

(C) Chaitra

(D) Bhaday.

Who was the first Female Prime

Minister of Sri Lanka?

'(A) Seemro Bhandar Nayke
(B) Chandrika Kumara Tung
(C) Julia Gillard

(D) None of these.

Which of the following Players
won Rajiv Gandhi Khe] Ratna for

2020 AD. in Cricket?
(A) Virat Kohli

(B) Rohit Sharma
(C) Hardik Pandya

(D) Jasprit Bumrah.



130. T® mfa= fag st #1 39 #Fal gan 130. Where is the birth place of Guru
e Gobind Singh Ji?
(A) 9 (A) Patna
(B) =y ufes (B) Anandpur Sahib
(C) @'l (C) Lahore
(D) 3IgaE (D) Amritsar.
131, B |l 3 FATHL F TH FEl 131. Dr. B. R. Ambedkar was born at :
g3’
- (A) Poorna
A) @
(B) Mumbai
(B) g3
(D) | (D) Satara.
132. 7= 9 9 f%9 7 W 5@ 31T 7 | 132. Which one of the following Planets
T 272 has the shortest day?
(A) gef (A) Earth
(B) HTed (B) Mars
(C) 94 ' (C) Mercury
(D) &1 (D) Venus.
J-2106-Series-C

(47)
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Lo Porest policy was
133, w&m g9 fifa =1 wa vE faq 133. The National Forest p

Lk Lunched in :

ol

(A) 1088 (A) 1988 A.D

(B) 1990 %, (B) 1990 AD.

,.(“J,

(C) 1994 (C) 1994 A D).

(D) 1996 7 (D) 1996 A D.

134, TWEaIR % fom TF quf 2 134.  Waves used for Telecommunication
are :
(A) 3¥9 &Yl
(A) Visible light
(B) 31atEm
(B) Infrared
© (C) Ultraviolet
(D) geq a3 (D) Microwaves.
135, &% @ 9 9 9 fag T ¥ 76 | 185, The Tropic of Cancer does not pass
TSRl &2 . through :
(A) fBga (A) Tripura
(B) TST=Um (B) Rajasthan
(C) BxTaTe (C) Chhattisgarh
(D) srfeom (D) Odisha.

J-2106-Series-C (48)
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138.
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(30.) et wag faas Ha G i @7

24 A
(By 5 9

(C) 25 Al

T U SRR fXad el A
ST © 2

(A) 24 3TFRI

(B) 24 fEER

ORELE

(D) 5 =l

136.

137.

138.

(49)

National Voter’s Day is celebrated

on which day?
(A) 24th January
(B) Hth June
(C) 25hth January

(D) 1st December.

er of Scout and

Who was the found
Guide?

(A) Alexander

(B) Baden Powell
(C) Darwin

(D) Thomson.

On which Day is the National

Consumer Rights Day celebrated?
(A) 24th October

(B) 24th December

(C) Tth April

(D) 5th June.

P.T.O.



139,

140.

41.

106-Series-C

forfir- <t ) it e S e 2
(A) TFIETa

(B) @ 1 aix arfromga

(C) Twdl

(D) T@Ysft)

Fq—maﬁuamaﬁmmmzlaﬁ@
HAHY 18 IH i TS off?

(A) 1980 <.
(B) 1989 €.
(C) 1998 %,

(D) 1991 .

Il T F Sl B g 32
(A) HRETERR

(B) @ER

(©) wrTeeT

(D) et |

139.

140.

141.

(50)

The Deficiency of Vitamin-D
causes :

(A) Anaemia

(B) Rickets and Osteomalacia
(C) Scurvy

(D) Night blindness.

In which year the Voting age was
reduced from 21 years to 18 years?
(A) 1980 A.D.

(B) 1989 A.D.

(C) 1998 A.D.

(D) 1991 AD.

Which Lake is the source of Parvati

river?

(A) Sarvalsar

- (B) Sukhasar

(C) Mantalai

(D) Mahakali.
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142, TR LR qrdd # AEF HA ) 142. Who is the Author of Kinner
17 sradesh?
(A) A1 Prac
(A) Bansi Ram

() e e |

‘ | (B) Lal (Chand Prarthi

(C) TEA AT () Rahul Sankrityayan

(D) UR.TH. THTET (D) M.S. Randhawa.

dconomics?

143, srefer @ fuar T 4? 143. Who is the Father of F

(A) Tl (A) Marshall

(B) Pigou

(B) 9L

(C) d.um. faew (C) J.S. Mill

(D) 9. wen fEul (D) Prof. Adam Smith.

144. The smallest District in area of

Himachal Pradesh is:
(A) Bilaspur

(B) Solan

(C) Hamirpur

_(C) #HRE

(D) Una.

(D) 31

J-2106-Series-C (51) P.T.O
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146.

AR 7m feamy w32

(A) 28
(B) 22 3mde
(C) 21 w14

(D) 7 3=
e T el | feeg 32
(A) Tferar o
(B) 9 o
(C) SAwIH |

(D) &9 H|
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145.

146.

147.

When did International Yoga Day
celebrated?

(A) 21st.June

(B) 23rd June

(C) 2nd July

(D) 21st May.

When is the ‘Wold Earth Day’
celebrated?

(A) 28th February

(B) 22nd April

(C) 21st March

(D) 7th April.

Where is Sahara desert situated?
(A) In Asia

(B) In Europe

(C) In Africa

(D) In Russia.



a8, adnm o e afE fekh @rE #iA
¥ (T wq@)?
(A) FHER fae
(B) wra= fas
(C) T g A

(D) fafys waal
S

140.  HTH T TS Hd g7
ri‘i) 1929 %.
(B) 1939 %.
(C) 1942 %
(D) 1945 3.1
150, ‘e fgh! ur feaee w1ow ® fRe
faot o feer 22
(A) FITST
(B) &1

(C) Temen

(D) el T

J-2106-Series-C

(53)

148.

149.

150.

nnnnnnnnn W

In present who is the Chief of

Defence Staff?
(A) Karmvir Singh
(B) Manvainder Singh

(C) Manoj Mukund Naravane

(D) Bipin Rawat.

When did the Tragedy of Incident
at Dhami occur?

(A) 1929 A.D.

(B) 1939 A.D.

(C) 1942 A.D.

(D) 1945 A.D.

In which District of Himachal
Pradesh ‘Sola Singi’ Dhar is
situated?

(A) Kangra

(B) Una

(C) Shimla

(D) Lahaul Spiti.

P.T.O





